
Reservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUS

1



Reservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUS

2

Nr. Reservedelsnr. Navn

7 921923-8 SKRUE M8x120###(265583-9)

8 345280-4 MØTRIK (HP2051)

9 417630-4 GREB HOLDER (HR2440)

10 158057-6 SIDEGREB 36 

13 162245-9 OMSKIFTERARM (HR2470)

14 233459-8 TRYKFJEDER 3 (BHR162)

15 419192-8 LÅSEKNAP (BHR162)

16 213278-8 O-RING 17 (HR2440)

17 158216-2 GEARHUS KPL. (HR2470FT)

18 266351-3 SCHRAUBE 4x35

19 153290-5 HYLSTER (HR2440)

20 233929-7 FJEDERRING 29 (HR2450FT)

21 267460-1 SKIVE 31 (BHR240)

22 233401-9 TRYKFJEDER 32 (HR2450FT)

23 227109-5 TANDHJUL 51 (HR2450FT)

25 158307-9 CYLINDER (HR2470FT)

26 267229-3 SKIVE 28 (HR2440)

27 331769-8 HYLSTER 9 (HH2230)

28 324796-2 SLAGBOLT (HR2811FT)

29 324402-9 RING 10 (HR2450FT)

30 421955-0 SKIVE 13 (BHR240)

31 324216-6 O-RING HOLDER

32 213073-6 O-RING 9 (HR2440)

33 233917-4 RING 28 (HR2440)

34 324733-6 HAMMER (HR2460)

35 213227-5 O-RING 16 HK0500

36 318132-2 STEMPEL (HR2470)

37 267104-3 SKIVE 12 HR2400

38 324215-8 STIFT

39 267104-3 SKIVE 12 HR2400

40 213727-5 O-RING 63

41 211012-0 KUGLELEJE 606ZZ

42 961003-8 LÅSERING S-7

43 233343-7 TRYKFJEDER 7 (HR2450)

44 331992-5 KOBLING (BHR262)

45 324668-1 TANDAKSEL (HR2470FT)

46 219014-0 KUGLELEJE (BHR200)

47 226656-3 TANDHJUL 26 (HR2230)

48 266273-7 INV.SEKSKANTSKRUE M4X12 (4604)

49 345179-3 LEJEAFDÆKNING (HR2440)

50 267234-0 SKIVE 8 (HR2440)

51 211032-4 BALL BEARING 608ZZ

52 324212-4 RING 8 (HR2440)

53 961011-9 STOPRING E-4

54 233342-9 TRYKFJEDER 6

55 345363-0 OMSKIFTERPLADE (HR2450)

56 141574-3 LAGERGEHAEUSE

57 443126-9 FILZ



Reservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUS

3

58 213407-3 O-RING 26 (SR1600)

59 213077-8 DICHTUNG 10

60 210059-1 KUGLELEJE 6000DDW###(211289-7)

61 267213-8 SKIVE 10

63 515289-2 ANKER (HR2460)

64 681670-0 ISOLIERSCHEIBE

65 210023-2 KUGLELEJE 627DDW

66 267804-5 WELLENSCHEIBE 15

67 266334-3 BLECHSCHRAUBE 4x60

68 344871-8 HOLDEPLADE (GD0800C)

69 419716-0 LUFTFUEHRUNG

70 626579-9 FELD (HR2460)

71 419718-6 MOTORHUS (HR2470FT)

72 863556-2 TYPENSCHILD HR2470FT

73 194074-2 KULSÆT CB-325

74 638500-6 KULHOLDER (HR2230)

75 650588-6 ELEKTR. AFBRYDER (HR2230)

76 814966-6 SERIEN-NR-SCHILD HR2470FT

77 682566-8 STUDS 10 (RP0910)

78 665890-4 LEDNING H07RN-F###(P-26185)

79 687260-7 HOLDER

80 266324-6 SKRUE 4x22

81 631746-3 LED

82 419717-8 DÆKSEL F. GREB (HR2470FT)

83 266324-6 SKRUE 4x22

84 266324-6 SKRUE 4x22

85 961017-7 STOP RING E-3

86 417796-0 FØRINGSHOLDER (HR2450)

87 233344-5 TRYKFJEDER 4 (HR2450)

88 266374-1 SKRUE 4X25 (GA9020SF)

89 163430-7 REDUCERINGSPLADE

90 227179-4 TANDHJUL 10 (HR2470FT)

91 941102-2 SKIVE 5

95 286263-4 STØVSTUDS 35 (HR2440)

96 233940-9 RING 19 (HR2440)

97 418217-5 AFDÆKNING (HR2450FT)

98 345333-9 STOPPER (HR2450FT)

99 216022-2 STÅLKUGLE 7.0 HR160DW

100 345187-4 FØRINGSSKIVE (HR2440)

101 233916-6 SPIRALFJEDER 21-29 (HR2440)

102 267279-8 UNDERLAGSSKIVE 21 (HR2450FT)

103 324355-2 VÆRKTÖJSHOLDER (HR2450FT)

104 216013-3 STÅLKUGLE 6 (LF1000)

105 231669-1 FJEDER 31 (HR2450FT)

106 345334-7 RING (HR2450FT)

107 418218-3 DÆKSEL (HR2450FT)

108 216018-3 STÅLKUGLE

109 345335-5 BLADFJEDER (HR2450FT)

110 267270-6 UNDERLAGSSKIVE 24 (HR2450FT)



Reservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUSReservedelstegning for HR2470FT - BORE-/MEJSELHAMMER SDS PLUS

4

111 233924-7 RING 21 (HR2450FT)


